                                                             Amrita University Ettimadai Campus.                         Time : 7. 5 min
CIR  test

1. If  2nd row and 4th row are interchanged and then 3rd column and 5th column are swapped. What will be the 3rd row 4th element  

	5
	9
	7
	3
	4
	9

	4
	5
	5
	8
	9
	7

	8
	4
	1
	8
	2
	6

	5
	8
	7
	6
	2
	9

	1
	2
	0
	9
	7
	3


2.  If 3rd row and 4th row are interchanged and then 2nd column and 5th column are swapped. How many elements are in their original place? 
	2
	9
	3
	7
	4
	9
	5

	4
	51
	43
	23
	51
	6
	92

	72
	71
	36
	27
	39
	31
	84

	74
	29
	60
	72
	45
	47
	12

	72
	53
	59
	24
	28
	19
	78

	38
	34
	76
	45
	28
	45
	82


3. If 3rd row and 6th row are interchanged, followed by swapping of 2nd column and 1st column followed by swapping of 3rd row and 6th row. Then what is the 4th row 3rd element
	@
	@
	#
	%
	#
	!
	&

	&
	%
	^
	@
	@
	#
	&

	@
	@
	@
	&
	&
	*
	*

	&
	@
	#
	|
	|
	|
	@

	*
	&
	$
	^
	$
	$
	^

	)
	(
	@
	%
	^
	*
	*


4.  In the matrix given below , replace all @ by # , all # by$, all $ by& . Then what is the 3rd row 4th element if 4th column and 5th column are swapped and 2nd row and  1st column are swapped.

	@
	@
	#
	%
	#
	!

	&
	%
	^
	@
	@
	#

	@
	@
	@
	&
	&
	*

	&
	@
	#
	|
	|
	|

	*
	&
	$
	^
	$
	$

	)
	(
	@
	%
	^
	*


5. In the matrix given below ,
	@
	@
	#
	%
	#
	!

	&
	%
	^
	@
	@
	#

	@
	@
	@
	&
	&
	*

	&
	@
	#
	|
	|
	|

	*
	&
	$
	^
	$
	$

	)
	(
	@
	%
	^
	*


    start from the north west corner, move two units south and 4 units east. Now move     2 units south and 2units diagonally upwards to the right. Replace this element by 4th row 3rd element. Then the element in the 3rd row 5th column is____.

6.  From the 5X5 matrix given below find the minima of row maxima of each row. Call it as minimax. Also find maximum of column minima. Call it as maximin. Which is bigger Maximin or minimax. 
	5
	6
	9
	7
	3

	8
	1
	7
	3
	9

	6
	6
	7
	9
	9

	4
	1
	6
	7
	0

	7
	3
	7
	2
	6


7. In the following matrix, replace all 6 s by 4 and all 5s by 8.
	5
	6
	9
	7
	3

	8
	1
	7
	3
	5

	6
	6
	5
	9
	5

	4
	1
	6
	7
	0

	7
	3
	7
	2
	6


Now reduce value of each element in each row by the row minimum of that row. Now for the resulting matrix, do a similar procedure for column also i.e., Subtract column minima from each entry of that column. (i) Totally how many elements are zeros (ii) If you were to strike all the zeros with minimum number of vertical lines and horizontal lines then how many lines do you require. (iii) How many rows and how many columns dint have any zeros. (iv) what is the highest number in the final matrix (v) what is the least non- zero number. (vi) How would the above results change if we had done column operation first and then row operation.
8. In the following matrix, start from 2nd row 2nd element. Move 4 units to the right, 3 units down 3 units to the left, 2 units up. What is the value of the element and its position.
	3
	6
	9
	7
	3
	6
	9
	4

	8
	-2
	7
	3
	9
	5
	3
	8

	6
	6
	0
	9
	9
	5
	0
	5

	4
	1
	6
	7
	0
	4
	2
	2

	5
	7
	4
	5
	6
	9
	9
	4

	5
	7
	4
	2
	4
	7
	4
	1

	7
	3
	7
	2
	6
	1
	8
	5

	7
	4
	2
	1
	4
	7
	5
	5


	5
	6
	9
	7
	3

	8
	1
	7
	3
	9

	6
	6
	7
	9
	9

	4
	1
	6
	7
	0

	7
	3
	7
	2
	6

	4
	7
	3
	3
	2


  In the above matrix in each row, elements are arranged in ascending order. Then each column, elements are arranged in descending order. This process is done two more times. What is the 4th row 3rd element.

	5
	6
	9
	7
	3

	8
	1
	7
	3
	9

	6
	6
	7
	9
	9

	4
	1
	6
	7
	0

	7
	3
	7
	2
	6

	4
	7
	3
	3
	2


       In the above matrix 6th row is brought before 1st row (Therefore 1st row is now second), 1st column is taken to the last.( i.e., second column becomes 1st.)This process is done three more times What is the 2nd row 4th element at the end of the process.

PAGE  
1

